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4 Section A

. Fill in the blanks (1x10=10)
a. Ifwe add 10 to 54. We will get . (64 /74)
b. Sless thaﬁ 50 is . (45/55)
c. The Tangram is an old puzzle. (Chinese / Indian)
d. S00+25= . v .(552 /525)
e. 45-29= . | - (17/16)
f. A has one corner, ' . (cuboid / cone)
g. A rectangle has _____commers. | (3/4) ‘
h. Half a century is equal to | (50/25) |
i. The letter cannqt of be divided in to mirror half. A(J / X) |
j. 6cmand 4mm = cm. (64/6.4)
2. Do as directed. | . ‘ @x5=10)
a. Match the following . |
i. Rectangle ' . a.
ii. Square b.
iii. Cuboid c. | O
' 4
iv. Circle d.
b. How many runs do these players need to complete a century:
Players | Runs scored | Run needed to complete a century
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V M. S. Dhoni

50
Virat Kohli 55
Rohit Sharma 65
Shikhar Dhawan | 75
Write True/False:

i. After 208 the next number is 209,
ii. There are 12 months in a year,
ili. A dozen apples is equal to 15 apples.

iv. A square has six sides.

altogether?

Make a top view of a table and side view df a cupboard.

. Sejal sold 174 pencils on Sunday and 126 pencils on Monday. How many pencils did she sell
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Section B

(Question Numbers 3 to 8 are of 1 mark each) (1x6=6)

3. Draw a line segment AB of 3.5 cm.

4. Look at the centimeter scale given below
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The length of arrow is cm.

5. Complete the following pattern:

A |
6. Ten notes of Rs 10 are equal to rupees..
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¥ Tick the letters which can be divided into mirror halves:

A

C
‘ M
F

. 8. Jump 5 steps backward

200, 195, 190, 185, 180,

(Question Numbers 9 to 13 are of 2 marks each)

y, there are two colours of

(2x5=10)

Answer the auestione givan halaw an the

Colour {1 bulbs
Yellow 249V 198
‘ Red 157 243

a. How many big bulbs are there?

b. Is the number of small bulbs more than big bulbs?
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